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AT L R A 1) -
B Wik 100mLX 1 M, 4°CLRAAE;
AR —: Wik 2.5mLX1 i, 4°CHEAF;

WRF = Wik 12.5mLX1 i, 4CHEAE.
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1. ZHGHECE TR SEICR AT BRI BB O N, AR RIS R IR B e R

(104 M) REUBARFR (mL) v 500~1000: 1 AJLLAE] (i 500 JTAE AN 1mL $& B0RD, #
PR (UK, ThE 20% 5% 200w, #B7 3s, [A]fE 10s, FEE 30 ), B E 30min, 8000g, 25T & L»
10min, X &R
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2. 4L WBALRE (g): SREUEAERB(mLA 1: 5710 MHE] CGERIUFREXNZ) 0.1g 4147,
TN ImL $REGD, EATUKIAI%, ## & 30min, 8000g, 25°C &L 10min, HU &R,

3. MMiE CGRO FES: JZIRIME GO A (mL: SREGRAER (mLA 1: 5~10 MHLE] (g
W 0.1mL & GO I 1mL $EBGED, #ATIKIEAIK, #E 30min,  8000g, 25T &L

10min, HU_EiERR.

NEPE:
1. NG EREE PR T 30min BL L, TIKE 520nm, ZEMEKIAE.
2. EHMEAELEIE 96 FLBRFMA 75 uL BEARFI 25 u L iRk7—, JRBZ), #E 2min, A

125 uL RF=, A, T 520nm PAANEEBOGE A,

ARSI E.
a AMERA R AN ER T EARIT
1. FRAESAE R A 7724 v = 0.0466x + 0.0675;  x NAEIEE &8 (pg/mL), v AWIGIHE.

2. ERIE GO AR

ARG & & (ug/mL) =[(A-0.0675)+0.0466 X V1]+ (V3XV1+V2) =214.6 X (A-0.0675)

3. RE AR

TIEARR & & (ug/mgprot) =[(A-0.0675)=0.0466 X V1]=-(V1 X Cpr)=21.46 X (A-0.0675) = Cpr

4, FRHERE G PR T

VMM &8 (ug/g B ) = [(A-0.0675)+0.0466 X V1] (W XV1-V2) =21.46 X (A-0.0675) +W
3. A% IR B O e B 5

PEARR & & (1 g/104 cell) =[(A-0.0675)+0.0466 X V1]+ (500X V1+V2) =0.043 X (A-0.0675)
V1: N RAR R PREAAER, 0.075mL; V2: JIANSREGERAT, 1mL; v3: IIANILE GR

BB 01mL;  Cpr: FEARRAFGRE, mg/mL; W: FEARTE, g; 500: 20 M A HLE 2L,

500 fi.
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b.F 96 FLARHIE KIS ARI T

1. FRUESA: T IE B H 78 y = 0.0233x + 0.0675;  x NHABIES®E (ug/mL), y AL
fd.

2. BTG GO HEHE

PEARE &8 (ug/mL) =[(A-0.0675)+0.0233XV1]+ (V3XV1+V2) =429.2 X (A-0.0675)

3. MM E FR TS

WIBAER & (1 g/mgprot) =[(A-0.0675)+0.0233 X V1]+ (V1 X Cpr)=42.92 X (A-0.0675) = Cpr
4. FHERE SR T

VIEAIR &8 (pg/g BEHE) = [(A-0.0675)+0.0233 X V1] (W XV1-+V2) =42.92 X (A-0.0675) +W
3. i A TR B P B P B

HER &8 (ug/104 cel) =[(A-0.0675)+0.0233 X V1]+ (500X V1+V2) =0.086 X (A-0.0675)
V1: IANRRARRFREARAER, 0.075mL; V2: JIANFREGERAAT, 1mLi; v3: IIANMLTE GE
WAL, 0.1mL;  Cpr: FEAREABUKE, mg/mL; W: FEAJEL, g: 500: 4 BAHAEEL

500 Ji.
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AR A 1ug/mL 8 1ug/g fEDL 10ng/mg prot



